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When looking at IBM Cloud Monitoring as a solution, which is a measure of the number of handled
requests?
Response:

A. Availability
B. Correctness
C. Durability
D. Throughput

Answer: D

For an IBM Cloud Site Reliability Engineer, what is a direct benefit of blameless postmortem?
Response:

A. Encourages the sharing of incidents

B. Improves client satisfaction

C. Reduces the number of bugs discovered during testing
D. Lowers the number of low-priority incidents

Answer: A

A Site Reliability Engineer has been asked to help enhance the security measures of their organization's
IBM Cloud infrastructure. They have been tasked with implementing a system that will help to
proactively monitor, track, and react to violations.

The system should create an audit history for compliance purposes, and provide reports and APIs for
external consumption and integration. What is this scenario describing?

Response:

A. IBM Cloud App ID

B. Security Information and Event Management (SIEM)
C. IBM Cloud Log Analysis

D. IBM Cloud Identity and Access Management (IAM)
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Answer: B

In a microservices architecture, how is distributed tracing different from monitoring on IBM Cloud?
Response:

A. Distributed tracing and monitoring are the same

B. Tracing covers lifetime of a request in a single service

C. Tracing covers lifetime of a request across multiple services

D. Monitoring covers lifetime of a request across multiple services

Answer: C

Which of the following describes an IBM Cloud Code Engine Build?
Response:

A. Creates container images from the source code

B. Serves HTTP requests and has a URL for incoming requests
C. Runs one or more instances of the executable code

D. Manages resources and provides access to its entities

Answer: B

When troubleshooting Linux OS on IBM Cloud using Bare Metal server with block storage, which
command would be used?
Response:

A. multipath
B. iscsiadm

C. systemctl
D. mpathconf

Answer: D
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Which incident management team role manages the investigation, communication, and resolution of
major incidents?
Response:

A. Incident Commander

B. First Responder

C. Subject Matter Expert
D. Site Reliability Engineer

Answer: A

In the IBM Cloud Code Engine logs, a Site Reliability Engineer sees logs for some applications but not the
one they are looking for. The application does follow Site Reliability Engineering best practices. What
might cause this?

Response:

A. The application is scaled to zero

B. Code Engine is not running

C. Logging for Code Engine is not enabled
D. The application doesn't do logging

Answer: A
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